

تکلیف : 5
 (پیدا کردن) $\langle$ استایس خالی $\rangle$ یا در حد $\langle A \rangle$

$$f(x) = \left(\frac{1}{x}\right)^{x-2} - 1 \quad f(x) \rightarrow \frac{1}{x} \quad (1)$$

$$y = \sqrt{x^2 f(x+1)}$$

$$D_y = [0, 1]$$

$$f(x) = \sqrt{x+|x+2|} \quad f(-x) = \sqrt{-x+|2-x|} \quad (2)$$

$$x > x \quad -2x+2 > 0 \quad \leftarrow \begin{cases} -2x+2 & x > 2 \\ 2x+2 & x < 2 \end{cases}$$

$$\boxed{1, x} \quad D_{f(x)} = (-\infty, 1] \quad \begin{matrix} \cup \\ \cup \end{matrix} \quad \begin{matrix} x=2 \\ x < 2 \end{matrix}$$

$$y = \sqrt{x-1} \quad (1) \quad \frac{x-1}{f(x)} \geq 0 \quad (2)$$

$$D_y = (-\infty, 1] \cup (1, \infty)$$

$$9x^2 - 7x^2 - 2x - 3 \neq 0 \quad 9x^2 - 7x^2 - 2x - 3$$

$$(3x^2-1)^2 = (x+2)^2 \rightarrow |3x^2-1| = |x+2|$$

$$3x^2-1-x-2=0 \quad 3x^2-1=x+2$$

$$\Delta = 1 - 4 \cdot 3 \cdot (-3) = 37$$

$$x_1, x_2 = \frac{1 \pm \sqrt{37}}{9} \Rightarrow R = \left\{ \frac{1 \pm \sqrt{37}}{9} \right\}$$

PARAMOUNT

$$\Delta = a^2 - 4b = \frac{-a \pm \sqrt{a^2 - 4b}}{2} = \frac{1 \pm \sqrt{1-4}}{2} \sim \frac{1 \pm \sqrt{-3}}{2}$$

$$\sqrt{-(-1-3)} = \sqrt{4} = 2$$

$$y = \sqrt{f(x) - f\left(\frac{\varepsilon}{2}\right)} > 0 \quad f(x) = x^3 + x \quad \textcircled{5}$$

$$x^3 + x - \frac{\varepsilon}{2} - \frac{4\varepsilon}{2} = \frac{x^3 + x^2 - \varepsilon x^2 - 4\varepsilon}{2}$$

$$\frac{1}{2} (x^3 - 4\varepsilon) + (x^2 - \varepsilon x^2) = (x^3 - 1)(x^2 + 1) + x^2(x^2 - \varepsilon)$$

فإنجان درجہ 3 کا ضرب ہے۔ دیکھو انفا کس کس قسم کا

$$(x-2)(x+2)(x^2 + 14x + 14x^2 - \varepsilon x^2 + x^2) =$$

$$(x-2)(x+2)(x^2 + 8x^2 + 14)$$

$$\frac{-2}{x^3} + \frac{0}{x^2} + \frac{2}{x} = -\frac{2}{x^3} + \frac{2}{x}$$

$$D_y = [-2, 0) \cup [2, \infty)$$

$$f(2) + f(10) \quad f(x^3 + x) = 2x^2 - 1 \quad \textcircled{6}$$

$$\frac{x^3 + x - 2}{x^3 + x^2} \cdot \frac{x-1}{x^2 + x + 1}$$

$$f(x) \rightarrow x=1$$

$$\frac{x^3 + x - 2}{x^3 + x^2} \Delta < 0 \quad x^3 + x - 10 = 0 \rightarrow x=2$$

$$f(2) + f(1) = 1 + 1 = 2 \quad \textcircled{7}$$

$$\frac{2x-2}{-2x+2} = 0$$

$$f(x) = x^3 - 9x(x-2) - 1 + 1 = (x-2)^3 + 1 \quad (7)$$

$$g(x) = x^3 + 4x(x+3) + 2V - 2V = (x+3)^3 - 2V$$

$$g(\sqrt[3]{V} - 3) = (\sqrt[3]{V})^3 - 2V = -20$$

$$f(\sqrt[3]{V} + 2) = (\sqrt[3]{V})^3 + 1 = 10 \quad \frac{g(x)}{f(x)} = \frac{-20}{10} = -2 \quad (8)$$

$$f(x) = \sqrt{x + \epsilon} \sqrt{x - \epsilon} \quad g(x) = \sqrt{x - \epsilon} \sqrt{x + \epsilon} \quad (8)$$

$$f(x) + g(x) = a + b\sqrt{x+c}$$

$$f(x) = \sqrt{x + \epsilon} \sqrt{x - \epsilon} = \sqrt{(\sqrt{x - \epsilon} + \epsilon)^2} = |\sqrt{x - \epsilon} + \epsilon|$$

$$g(x) = \sqrt{x - \epsilon} \sqrt{x + \epsilon} = |\sqrt{x - \epsilon} - \epsilon| \quad (9) = a + b\sqrt{x+c}$$

الحل
الممكن $\rightarrow 2\sqrt{x - \epsilon} = a + b\sqrt{x+c} \quad \begin{cases} a=0 \\ b=2 \\ c=-\epsilon \end{cases} \quad \frac{a+b}{c} = \frac{-1}{\epsilon} \quad (10)$

$$x^2 - \epsilon x + 1 \neq 0 \quad (x-1)(x-1) + 0 \quad (9)$$

$$D_f = \mathbb{R} - \{1, -1\}$$

$$f \cap g = \{(-1, 1)\}$$

$$\frac{g}{f} = \left\{ \left(-1, -\frac{1}{\epsilon} \right), (0, 2) \right\}$$

الف $f(x) = \left\{ \left(\frac{1}{2}, 2 \right), \left(\frac{3}{2}, -1 \right), (2, 2), \left(-\frac{1}{2}, 2 \right) \right\}$ (10)

ب $f(x) = \left\{ (1, 2), (-1, 2), (\sqrt{3}, -1), (-\sqrt{3}, -1), (2, 2), (-2, 2) \right\} \rightarrow \times$

ج $2g'(x) + 1 \left\{ (-2, 9), (1, 3), (3, 19), (-1, 3) \right\}$

$\rightarrow \frac{2f}{g} \left\{ (1, -2), (3, -1) \right\}$

$D_f \cap D_g = \{(-1, 3, 1)\}$